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UNIT TEST-2, AUGUST - 2024
i BUSINESS MATHEMATICS
e Adlowed ¢ LA Elurs] J"LND ST“TISTICB
Part - |
1. Anawer all the questions by choodlng the corroct answer from thoe glven 4 allernatives
2. Write question number, correct option and correaponding answer

IMay, Marks: d

. Each questian carrles 1 mark, 10x1=1
L The seantercept of the stralgght Hine 16 4 2y = 1 = (s
na (212 “]'Ii l*]':
20kt b Tey - 2yt s O popresent a palr of lines which are parpomdicutar tien k18 equal 1o
] (2~} OF (9)-2
LThecentreal thecleclex® 4 y' = 20 4 2y =9 = 0ls
(M (2)(=1-=1) (1N(=11) (4)(-1
4. The eccentriciiy of the parabola is
(13 (412 (Mo ("1
5. The anjle between the lne y = s and y w—=x s
(1145 (2)90° (1) 100° (4) 607
6, The value ol wln 15° 1s
PR (297 Mm% W
7.00%in A+ cos A = 1 then sin 2A lg equal to
(i [2) 2 (no lﬂ%
0, tan (: - u) Iy
) (e (2) (-:-ﬁf‘ﬁ) (1)1 =tanx (4)1 +tanx
9,1 prec 50° = tan 50° then p ls
[1) vos B0 (2] sin 50° (1) tan 50° (4] sec 50°
10, Value of sec? 64" = tan' 61 1
(o [2) 1 (3) -1 (4) o
PART - 11
1. Anawerany 4 guestions 4
2. Lach questlon carries 2 marks
3. Question 16 lsrompulsary
V1, Pl the vadues ol sl 1507
12, Finid the equation of the eliele having (4.7) and (= 2.,5) v the extremities of n dlameter.
1 Find the length of the tangent from (1,2) to the elrele xt + y‘ ~AAy im0,
14, Convert the following into the product ol irlgonometrie fanctions: in 70 = sin 40,
6. Findd the anglo between the patr of steatght Hines 3a* — Gxy - 2y 4+ 17k y +10= 0,
16, Find tho value of tan 15,
i
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L Each question CATien 3 maris

3. Questton 22 ks compalsory
17. Find the value of P i the |lne g + 4y -FP=Dinanngertoteciier o ¥ = 16
18. Using multiple sngle identity, find an £9°
19.5olve tan™ (x4 1) 4 an ! (2 — 1) = tan~" GJ .
20.11A.B.C,D are angles of 2 cyclic quadnlateral prove that: s A+ cos B+ emC+om D=0,
2L Find the value ef*3" for which the sraightlines Jr+ 4y = 13, =Ty =—landan =y = 14 = 0 2 compvpme.
2. Find the vertes , Axis,, Length of Latus rectum of the parabata (1= 1) s By - 7).
PART - IV
1. Answer all the questions dx5=1§5
2. Each question carries 5 marks
21l]lfl.hdlmnccuf:pnintfmmthepulnl:tll]md[lz}mlnthcnﬂni:l.ﬂ;mﬂ.uﬂhehm:tf&!m
(OR)
b] Find the equation of the circle passing through the polnts (0,0), (1.2) and (2.0).
24.3)llana =;=nd tan =§1.h=n prove that Qa + f) = E
(OR)
b) Prove that cos 20°cos 40°cos 60°cos BD" = ﬁ

25.3) Salvean™! (E] +tan™! C%D =L
(OR)
b} A private company appaint2d a clerk In the year 2012, his salary was fixed as £ 20,000 . 1n 2017 kis szlary ramed tn

25,000 (1) Express the sbove information as a linear function in x and ¥ where y represzat the smlary of the dek
and x-represent the year

(i) What will be his salary Ia 20207
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